program Al;

var
a,b,c,d,f:integer;

begin
assign(input,'d:\1.txt ");
reset(input);
assign(output,’ d:\2.txt');
rewrite (output);
readln(a,b);

c:=atb-1;
d:=c-a;
f:=c-b;

writeln(output,d,f);
close(input),
close(output),
reset(output),

end.

program Al;

var
a,b:integer;

begin
assign(input,'d:\1.txt ");
reset(input);
assign(output,’ d:\2.txt ');
rewrite (output);
readln(a,b);

if a+b= 4 then
writeln(output, ‘yes’)
else writeln(output, ‘no’);

close(input),
close(output);
reset(output);
end.

3amgadga Nel
Busizg uncna

ab6o (real)

c:=at+b-1.25;

writeln(output,d:5:2,£:5:2);

3agaua Ne2
BusBing «tak» «Hi»

ao6o (real)



3agaua Ne3
Brenenns ta Busig unciia B 1Ba, TpH psJiKa depe3 IPOITYCK

program Al;
var

a,b,c,d,f.k,x :integer; abo (real)
begin

assign(input,'d:\1.txt ");

reset(input);

assign(output,’ d:\2.txt');

rewrite (output);

readln(a,b);

readIn(x);

c:=atb-1; c:=a+b-1.25;
d:=c-a;
f:=c-b;
k:=d+f;
x:=d+a;
writeln(output,d,” “,f); writeln(output,d:5:2,” *,£:5:2);
writeln(output,k);
writeln(output,x);

close(input),
close(output),
reset(output);
end.



